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Q) If the number 4 137@’2_5_9?@7 1s divisible by 13, then what
1s the value of P?

(@) 3 ) 6 () 7 (d) 8

(39; - #I7H83p =52 4y)  — Should be divistble {Fj‘ B

_379 —I32+Y + £3P 537
504 + 4 4 83p doo + 30 +P
— 500 + $3p (43— " > —
— (6) 6 — A 200 +30 +P
- (33?) — (0 T — X 235 -

d) 8 —
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Q) If the number 413283P759387 1s divisible by 13, then what
1s the value of P?

(@) 3 ) 6 () 7 (d) 8

Ans: (d)
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A 4-digit number N has exactly 15
distinct divisors. What is the total
number of distinct divisors of N2 ?

(a) 16

(b) 30 AN = 7(7'2((7‘/
(c) 45
(d) 225
2 T x ¢
N- = X d

dishine! divisors =

—
-

(x 8 4 are
(!
/Dw'mz ydxofors )

(t{-fl)(@fl)

549 ;@
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Q) Three men start together to travel the same way around a

1
circular track of 11 kms. Their speeds are 4, 5 5 ,and 8 kms

per hour respectively. When will they meet at the starting

point?
(@) 22hrs (b) 12hrs
(¢) 11hrs (d) 44 hrs

Meeffnoe af !farffnd piint = dnout wmmn  matiple ¢ fhely fimes,

I/ 20 (B S/
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Q) Three men start together to travel the same way around a

1
circular track of 11 kms. Their speeds are 4, 5 5 ,and 8 kms

per hour respectively. When will they meet at the starting
point?

(@) 22hrs (b) 12hrs

(¢) 11hrs (d) 44 hrs

Ans: (a)
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Q) One pendulum ticks 57 times 1 58 seconds and another 608
times 1 609 seconds. If they started simultaneously, find
the time after which they will tick together.

211 1217
@ Tgs ®) g
1218 4 lois
(c) T (d) 19 S

57 —— 584 ‘ bo
e L N
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Time »/5,0, ek ‘I(od*e'ﬁ;er ,

LCM 53 ’ 697 -
5 (o€
= QyaxtRl]
/1

LeH (58*, Boyjé . ’;‘; 7,
Her (57, 608) 28
59 = Ax29
5 = 3’O 6of = 3 x 203
603')'27. = g X #x2f
= 3xF XYY
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Q) One pendulum ticks 57 times 1 58 seconds and another 608
times 1 609 seconds. If they started simultaneously, find
the time after which they will tick together.

211 1217
@ Tgs ®) g
1218 4 lois
(c) T (d) 19 S

Ans: (c)
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Q) The sum of first 47 terms of the series

1 1 1 1 1 1y 1 1 1 .
—_— -3t — 44—+ — —— ... 1S
5 6 4 5 6/ 4 5 6

(@) 0 (b)
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Q) The sum of first 47 terms of the series

1 1 1 1 1 1 1 1 1 _
— T —t—+t—+———..... 1S

475 6 4 56 45 6

@ 0 ) -
1 oS
© - @

Ans: (b)

EXAMS
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Q) If 10" divides 62> x 757 x 105%, then what is the largest value
of n?

(a) 20 (b) 22 (c) 23 (d) 28
(:?_AS)ZB X (5”)(9)7 p (MBX?)L o= X5
1?23 x 57 x5t (mld counf  powert "f 2 ond 6’)

0?25 X 59.0
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Q) If 10" divides 62> x 757 x 105%, then what is the largest value
of n?
(@) 20 (b) 22 (¢) 23 (d) 28

Ans: (a)



CDS & AFCAT 1 2025 REVISION - MATHS - NUMBER SYSTEM
(@]

Q) What is the remainder when (17 + 23> + 29%) is divided

by 23 ?
@ 0 (b) 1
© 2 d) 3

AR e T A
43 43 {3

) .
/\ ;ah + 6__ — TUY)alna/eY =0

b
s . ,923+4723__ at
93 99 23
= 0 f /,}2){_2?23 = /92;1"2?21 = h 29
b — 1/6 A X 25

(¥ + 29
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Q) What is the remainder when (17> + 23 + 29%) is divided

by 23 ?
@ 0 (b) 1
©) 2 d 3

Ans: (a)
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Q) Consider the following statements:

(I) There 1s a finite number of rational numbers between
any two rational numbers.  of

(I) There 1s an infinite number of rational numbers
between any two rational numbers. v/

(IIT) There 1s a finite number of irrational numbers
between any two rational numbers. of

Which of the above statements 1s/are correct?

(a) OnlylI (b)y OnlyIll

(¢) OnlyIII (d) Both I and II
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EXAMS

Q) Consider the following statements:

(I) There 1s a finite number of rational numbers between
any two rational numbers.

(I) There 1s an infinite number of rational numbers
between any two rational numbers.

(IIT) There 1s a finite number of irrational numbers
between any two rational numbers.

Which of the above statements 1s/are correct?

(@) OnlyI (b) Only II

(¢) OnlyIII (d) Both I and II

Ans: (b)
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1 1 1 1 99

Q) If =5 53 +3><4+'"+n(n+1):100 then what is
the value of n?
@ 98 ) 99 (¢) 100 (d) 101

) ) (F9) - (F5m) = 4

) %
n+/ foo

D - 99 > [oon Mo+ 99
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1 1 1 1 99
QIf Ix2  2x3 +3><4+'"+n(n+1)_100
the value of n?
(a) 98 (b) 99 (¢) 100 (d) 101

then what 1s

Ans: (b)
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Q) The highest four-digit number which is divisible by each of
the numbers 16, 36, 45, 48 1s

(@ 9180 () 9360  (c) 9630  (d) 9840

6 =
LeM (/b 36,45 4@ F20 3 = A8
//'UAW‘ ]{our a/iﬁr'f pumbeY = 9999 45 = 85
4¢ = A% 3

LeM - -?9132‘)‘5\
- [6X9 X%
= [y x5

- F20
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13
720 | 71999
-320 79 99 .,
27 9 - ¢ 37) Sabte)  1he remarndey
-9 —
-2/ 60 7550
(37
Tole }s exa 61‘81 di'vis1ble.

60( 220 .
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Q) The highest four-digit number which is divisible by each of
the numbers 16, 36, 45, 48 1s

(@ 9180 () 9360  (c) 9630  (d) 9840

Ans: (b)
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Q) What is the remainder when (17%° + 19%°) is divided by 182

(a) 6 (b) 2 (o) 1 (d) 0
e 9t pt e S M et s
¥ +19 % dintrbfe édf 36,

kemcln”?_):o % nzod{ (;

a+h i diisible by %, if
Wil also e divisrble /PJ

facjm o]f 26 =7 divisible éd (8
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Q) What is the remainder when (17%° + 19%°) is divided by 182
(@) 6 (b) 2 (o) 1 (d) 0

Ans: (d)
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Q) The expression 5" — 2°" has a factor
(@) 3 (b) 7
(c) 17 (d) None of the above
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Q) The expression 5" — 2°" has a factor
(@) 3 (b) 7
(c) 17 (d) None of the above

Ans: (c)
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Q) Which one of the following is the largest divisor of
3%+ 3¥t1 + 3%*2 ifx is any natural number?

@ 3 b) 13 © 39 (@ 17 v

Xl
3% _’_311‘/ + 3

3’(”3'7*32) s sy
37(('/+3+?) 1=2 ,—_7_/_{_‘2

sls) |
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Q) Which one of the following is the largest divisor of
3%+ 3¥t1 + 3%*2 ifx is any natural number?
@ 3 (b) 13 c 39 (d) 117

Ans: (c)
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Q) Consider the following statements:
If p 1s a prime such that p + 2 1s also a prime, then
L p(@p+2)+1i1s a perfect square.
II. 121sadvisorofp+ (p+2),1fp>3.
Which of the above statements 1s/are correct ?
(@) OnlylI (b) OnlyII
(¢c) Both I and II (d) Neither I nor II



CDS & AFCAT 1 2025 REVISION - MATHS - NUMBER SYSTEM

Q) Consider the following statements:
If p 1s a prime such that p + 2 1s also a prime, then
L p(@p+2)+1i1s a perfect square.
II. 121sadvisorofp+ (p+2),1fp>3.
Which of the above statements 1s/are correct ?
(@) OnlylI (b) OnlyII
(¢c) Both I and II (d) Neither I nor II

Ans: (c)

EXAMS
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Q) Which one of the following 1s correct?
The sum of two 1rrational numbers

(a)
(b)
(©)
(d)

1s always a natural or irrational
may be rational or irrational

1s always a rational number

1s always an 1rrational number

@i=]
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EXAMS

Q) Which one of the following 1s correct?
The sum of two 1rrational numbers
(@) 1s always a natural or irrational
(b) may be rational or irrational
(¢) 1s always a rational number
(d) 1s always an 1rrational number

Ans: (b)



CDS & AFCAT 1 2025 REVISION - MATHS - NUMBER SYSTEM

Q) Consider the following statements in respect of three 3-digit
numbers XYZ, YZX and ZXY :
1. The sum of the numbers 1s not divisible by
(X+Y+2).
2. The sum of the numbers 1s divisible by 111.

Which of the above statements 1s/are correct?
(a) 1 only () 2 only
(¢) Both1 and?2 (d) Neither 1 nor 2
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Q) Consider the following statements in respect of three 3-digit
numbers XYZ, YZX and ZXY :
1. The sum of the numbers 1s not divisible by
(X+Y+2).
2. The sum of the numbers 1s divisible by 111.

Which of the above statements 1s/are correct?
(a) 1 only () 2 only
(¢) Both1 and?2 (d) Neither 1 nor 2

Ans: (b)
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Q) The least number that should be added to 2055 so that the
sum 1s exactly divisible by 27 :
(a) 4 (b) 27 (c) 31 (d) 28
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Q) The least number that should be added to 2055 so that the
sum 1s exactly divisible by 27 :
(a) 24 (b) 27 (c) 31 (d) 28

Ans: (a)
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Q) Let x be the least number, which when divided by 5, 6, 7 and
8 leaves a remainder 3 1n each case but when divided by 9
leaves no remainder. The sum of digits of x 1s

@) 22 b) 21 © 18 (d 24
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Q) Let x be the least number, which when divided by 5, 6, 7 and
8 leaves a remainder 3 1n each case but when divided by 9
leaves no remainder. The sum of digits of x 1s

@) 22 b) 21 © 18 (d 24

Ans: (c)
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Q) I have a certain number of beads which lie between 600
and 900. If 2 beads are taken away the remainder can be
equally divided among 3, 4, 5, 6, 7 or 12 boys. The number
of beads I have

(@) 729 (b) 842 (c) 576 (d) 961
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Q) I have a certain number of beads which lie between 600
and 900. If 2 beads are taken away the remainder can be
equally divided among 3, 4, 5, 6, 7 or 12 boys. The number
of beads I have

(@) 729 (b) 842 (c) 576 (d) 961

Ans: (b)
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Q) A hall 1s 13 metres 53 cm long and 8 metres 61cm broad is to
be paved with minimum number of square tiles. The number
of tiles required 1s:

@ 123 (b)) 77 © 9 (@) 57
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Q) A hall 1s 13 metres 53 cm long and 8 metres 61cm broad 1s to
be paved with minimum number of square tiles. The number
of tiles required 1s:

@ 123 (b)) 77 © 9 (@) 57

Ans: (b)
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Q) Three wheels can complete respectively 60,36,24 revolutions
per minute. There 1s a red spot on each wheel that touches
the ground at time zero. After how much tume, all these spots
will simultaneously touch the ground again?

(@) 5/2 seconds (b) 5/3 seconds
(c) 5 seconds (d) 7.5 seconds

@i=]
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Q) Three wheels can complete respectively 60,36,24 revolutions
per minute. There 1s a red spot on each wheel that touches

the ground at time zero. After how much tume, all these spots
will simultaneously touch the ground again?

(@) 5/2 seconds (b) 5/3 seconds
(c) 5 seconds (d) 7.5 seconds

Ans: (c)

@i=]
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